R BT R REIFH S (FRHIH) TR HHTE 48 288 (A)
Frx
= g & B & E i = & E fi& £ B 8
o ® ARE® ( (ke)
2L A 96.0 BERE 96.0 1512 432 378 10 A LL
IZALA 26.9 BRE 0.1 — 756 — 0] A M
IZALA £ & 19.8 — 2,160 - 0] A L
ZIES5 1.6 BRE 0.1 2,160 1,728 1,728 2l A LL
ZIES5 E X 05 - 2,376 - 3 A M
fzIFDC 0.2 BERE 0.2 432 — 292 1 F19
[E<E0Y 79.0 BERE 73.9 756 648 540 15 A 6
HTE 2.3 2 1.2 1,836 648 540 4 A L
—EOH 7.9 ERE 3.7 1,836 1,296 1,080 4 A M
FrRY 131.8 ERE 130.7 540 — 432 10 8
IE5NAZES 3.9 BRE 1.8 2,376 2,376 2,160 4f A M
hE 8.5 BRE 5.8 1512 1,080 864 3l A LL
hE X & 2.1 1,404 — 1,296 3l vay LL
_hE 1.6 = B 1.2 3,240 1,944 1,296 3 M
SE 0.1 BRE 0.1 918 648 248 1
125 3.6 =0 1.8 3,240 1,890 1,890 5] vay
+)L)— 1.5 2 [ 0.7 3,240 — 2916 0] A LL
FTRINGHR 1.2 N 1.1 — 178 — 0.1 vay M
HhyI757— 0.5 BRE 0.1 — 432 — 5/ A 9
Joyal)— 22.2 £ & 6.3 3,240 — 2,376 0] A 20
LAR 70.0 BRE 0.1 1,080 1,080 540 1 A M
LA E & 59.7 972 648 540 10 12
FoTHA 2.0 BRE 1.3 1,728 1,296 756 4f A L
=p5Y 23.6 BRE 18.5 1,901 1,080 972 5/ A L
=p5Y ElG 5.0 1,620 1512 1,080 5] A M
ANESSES) 12.3 =9 12.1 2,916 1,890 1,890 10 vay 5
A 3.8 BRE 0.2 — 3,024 — 8 B L
Y B X 3.3 - 1,944 — 5] A 32
k< 16.4 BRE 8.1 1,188 1,188 1,134 4 B 3L
k< BE X 7.9 238 194 86 0.5 5
I=kTh 45 BRE 3.1 130 86 86 02 A M
= =I5 1.1 151 108 97 02| A M
E—<> 11.1 BERE 10.3 5,184 4212 3,888 7.8 A M
ES5HACL 0.3 N 0.2 4,320 3,456 2,646 5] vay L
T35 0.4 BRE 0.4 — 162 — 0.1 8
IZH5Y 0.5 BRE 0.2 — 1,296 — 3l A 3L
[ZA5Y =I5 0.2 3,888 3,672 3,240 6
SPVAITFA 0.8 BRE 0.8 2,160 - 1,944 2l A
SPZAES 0.7 N 0.4 1,404 1,080 540 1] vay L
E—X 0.2 BRE 0.2 1,188 1,188 864 1
ZTHEDH 0.6 BRE 0.6 1,404 1,350 1,296 1
MrAL& 3.6 E X 3.6 2,052 1,782 1,728 5 M
[ESARYONS 63.9 BRE 63.9 3,240 - 2592 0] A 3L
&L 0.3 BRE 0.3 4,860 3,240 1,620 5
AL 0.3
f=FEh&E 62.1 BRE 3.5 1,080 - 756 10 B L
f=FhE JeiEE 31.0 - 3,240 - 20 L
IZAIZK 1.3 ol 1.1 5,616 4536 4536 10 4L
5oELD 2.6 BRE 2.6 7,020 - 6,480 0] A M
EBLEIN 1.1 = % 0.3 - 4,860 - 4
HELLV=IT 2.0 ElG 1.0 97 86 76 0.1 A L
ZDEET 3.1 K & 2.0 - 30 - 0.1 A
ZDEET BE X 0.6 35 — 27 0.1 A
LHL 2.1 2 [ 2.1 97 - 81 0.2
ESES T 682.1
B=
= g & B & E i = & E fi& £ B 8
o ® ARE® ( (ke)
HAEDHMA 3.4 ERE 3.4 2,484 2,268 2,160 0] A L
LEY 1.9 TA)H 1.9 7,452 7,452 5,400 17 115
INLUVT 1.9 TA)H 1.9 7,128 7,128 5,400 17 88
L7y 0.3 T A)H 0.3 6,480 5,940 5,184 15 48
BR 0.7 EIR - - — PR
HHE 0.5 =l 0.2 5,076 — 4,320 10 M
Lo 2.2 BRE 0.2 — 2,700 — 3| 7hva 3L
Lo B X 2.1 - 2,268 - 5| 7hv1 20
HmohrAED 1.7 B X 1.0 2,700 1,944 1,944 10 L
YATE 15.1
eI 3.3 5 3.3 3,456 — 3,348 10] vay 36
AL 10.2 5 & 9.2 - 5,184 - 10[ 74v1 36
E# 0.7 5 & 0.7 6,048 5,940 5,778 10] Mty 36
U BERE - 1,296 - 0.5 7hva M
58 BRE - 540 — 1
W5 5.4 BRE 3.5 626 302 302 025 A LL
AOVEF 5.4
7—ILA 1.1 =l 0.3 - 3,024 — 5] A2
FDhAO 4.0 EES 1.4 3,780 — 3,456 5] A LL
ERRY Y15 6.2
F L 4.2 EES 4.2 7,128 — 6,912 13[ 7h¥a LL
INFF 17.4 EYEY 17.3 5,940 4,104 3,791 15
NAFyFTIL 3.1 EYEY 2.9 3,780 2,700 2,700 10 6
FoA4T)LY 3.6 —oT 3.6 5,076 4752 4752 5.8 30
RERET 69.2




